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Example : Wright the truth table of these statements

1- pA~q
2-~pA~q
Solution 1-
p q ~q9  pA~q
T T F F
T F T T
F T F F
F F T F
Solution2-
p qQ ~pP| ~q ~PA~q
T T F F F
T F F T F
F T | T F F
F F T T T
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Example : Wright the truth table of these statements

1- ~pVgq
2- ~pV(pA~q)
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Solution 1-

~prvVq
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Solution 2-

PA~q | ~pV(pA~Qq)

F F

mm - -
M- HR

¢
—I—|'|'|-|-|,.3

¢
=S| |-
<

T T
F T
F T

ooball B3 ke g sp e IS OSH - (condition statement) Audal LSV 5 jlall -3
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P | 4 | p—4q
T | T T
T | F F
F | T T
F | F T

Example : Wright the truth table of these statements

Solution1- (P> @ A(~p—->~q)

P | 9 | ~p| ~q\poq ~po>~q P> PDA(~pP—>~9q)
T | T F F T T T
T | F F | T F T F
F | T T F T F F
F F T T T T T
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2—- (P~ AN(~p-oq) (&)

s)be g sp o IS S (Bi-conditional statement) dal S AW 5 jLall -4
eisp o q Ml JensaS e be (A (g O8N L, 13 p )3 kel
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- p o q okl Gaa Jsang

P q | peq
T | T T
T | F F
F | T F
F | F T

Example : Wright the truth table of these statements
- A (~pA~Qq)
2-~pV(~q-p) (&)

3-(pAQ VT

Solution 1
Pl q |[peq | ~p | ~q | ~pA~q | (peoePDA(~PA~q)
T | T T F F F F
T | F F F T F F
F | T F T F F F
F F T T T T T
Solution 3

p q r pAq | (pAQVT

T T T T T

T T F T T

T F T F T

T F F F F

F T T F T

F T F F F

F F T F T

F F F F F
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Exercise 1: Wright the truth table of these statements
1-pv(~q) o~pArq

2-[p = A (@—1)] = (PA~T)

3-[p—ql = (~q—prq)

4-pVvq—>pVr

Exercise 2: Write the probabilities for the compound

statement consisting of four statements p, q, r, and s, then
write the following statement truth table .

CSIA S 5T 5q 5P B Dobe )l (e 4 SEall A8 jall 3 jlall VLAY S|
AV 3kl Baa Jsan

(pAT) >~sVq

Tautology (<l Jsaad ) —a s gl
Lia ol 5T __awid LTl € (31 dai e haill (niy AB3la 2S yall 3 Luall Cil< 13
p | ~p| pV~p deals duasi oo (p V~ p) skl 1 dls
T F T .
sl il
F | T T R
Contradiction a-sll)
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(uz.:c‘-.uﬂ'. O58) pRElE A p A~ p 5kl - Jla

p | ~p | PA~Dp
T | F F S Gaall Json 3 LS
F r F L Fooging ¥ genll o Jas ok

Example : show any of these statements are (tautology) or
(contradiction) ?  €(u=ili) o (o slsi ) ABY Ol el e ) O
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1-p —pVgq

2-pV(~p) (<)
3-pA~p (Ca<d)
4pA(~q) —pVq (X
5pVqo~pA~q (L)

Pl q | pvqg | p—pVgq
T T T T
T | F T T
FlT | T T
F|F F T

-1

N1

(@}ﬂ)@h@@ﬁ)ﬁd\uﬂ%dh@ﬁ)ﬁp@pﬁquth,j\u\\A_,

p q p—>q | q-p |(p—->q) < (q—p)
T T T T T
T F F T F
F T T F F
F F T T T

PEQI A Do) e (qop)

O Jd&s e Q 5P e IS S -i(Logical equivalence) (cilaiall 8lSHl) Cay yas
Pl Gaa dsaa K I P = Q JSAIL iS5 (0 5 lad) Lihaia (A P s Ll
P;‘EQJS....J\;«_:&Q M@&YF@\S\S\}QBJ\,\A\QMJJA;L“;}@

Example : Show any of these statements are logically

equivalent: : Likic 288156 45Y) O ) e gl o
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@b P 3okall Baua Jgon o
P=Q Qs Gra dsan

@b Y P 3 jlall 3aa Jean o
P £ Q o Q 5okl 3aua Jsan

ISP o QU bl P = géssle PQ oo dS oS- ddaadl
Exercise: Show any of these statements are logically
equivalent or not ? ¢ Y a Lt 28l<ia 4060 & jlall (g0 ) O

(ALl s Sl alazily)

1-P:p - q

Q:~pVgq
2-P:p—q

Q:q—p
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